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28°

11) 12)

148°







17) me2=12x+4 = |a‘1 18) ms2=13x+3 = I‘{{o

\9;)((/;%0 13X = 143

Hwk #24 Answers:
1. VX 4. Angle X 5.x=80,y=40 7.x=38,y=4
8. 150; 15 10. 64 11. 2.5 12. 42
20. x=60;y=30 21. x=36;y =36 24, 32.m = 20; n = 45
The exterior angle could be supplementary with one of the base angles. In
this case:
180 — 100 = 80

Each of the base angles has a measure of 80 degrees. The vertex angle would
have a measure of:

180 — 2(80) = 20

The second scenario is that the exterior angle could be supplementary to
the vertex angle. In this case:

180 — 100 = 80

The vertex angle is 80 degrees. The base angles can be found by:

(180 — 80)/2 = 50

Each base angle has a measure of 50 degrees.



Complete each statement. Explain why it is true.

LVT =2 4
3. 0T < 2
VU= U Y
4.LVYU= 7
T w X

\x-zl Algebra Find the values of x and y.
5. 6. 7.

8. A square and a regular hexagon are placed so that they have
a common side. Find mZSHA and mZ HAS.

9. Five fences meet at a point to form angles with measures x, 2x, S
3x,4x, and 5x around the point. Find the measure of each angle. A

Find each value.

10. If mz L = 58, thenm LKJ =

1L IfJL = 5,then ML = M. 4

12. If m£JKM = 48, then msJ = \
13. If mesJ = 55, then mZJKM = 1. I M L

Q Algebra Find the values of x and y.
D

20. 21.
\ /I\
AN
o A AN

24. Critical Thinking An exterior angle of an isosceles triangle has measure 100.
Find two possible sets of measures for the angles of the triangle.

icgusar pentagon

Geometry 4-6: Congruence in Right Triangles
Objective: The Hypotenuse-Leg Theorem

In a right triangle, the side opposite the right angle is the + and is called

. The other two sides are the I gqs .




Right triangles provide a special case for which there is an SSA congruence ryle, which w. as
not true for non-right triangle in secti 1]s 4-2 and 4-3. It occurs when re
congruent and one |Zi‘ 4 ‘g fgg‘! Jare congruent.

Theorem 4-6: Hypotenuse-Leg (HL) Theorem
If the hypotenuse and a leg of one right triangle are Iongruent to the hypotenuse and leg of another

right triangle, then (A’Y Q :__;V .




Proving Triangles Congruent One student wrote “ACPA = AMPA
by the HL Theorem” for the diagram. Is the student correct? Explain.

The diagram shows the following congruent parts.

CAs= —
Lcpa M

_ 11
Since AC is the I f\ V |und Eis a | p
of right triangle CPA, and _\‘!T 1 thcl n Mv -lﬁ'hd PAisa
| ‘c ]nl' right triangle :\!Pf!.‘ihc triangles are congruent by

The student

the :h !!\ l

**To use the HL Theore must show that, three condltlons are met.
1 mu st kﬁ'

2) h&ﬁAS have 2 V\\jPD‘t"LnMS€
5 pne pAIY b ¥ legs

M



Example 1: On the tent, /CPA and /MPA are right angles and CA = MA. Can you use one
pattern to cut fabric for both flaps of the tent? Explain.

QC 1: Which two triangles are congruent by the HL Theorem? Write a congruence statement.

g, S5




Example 2: Explain why ACBD = AEBA.

A - ‘_‘“

Ex rnpl 3 Expl nwhy AJWZ =

\.\\

+% mont | Poason
LW a£ hird (’,){Vln
-(,z Y AS.
oqu ~ Pe?(.
JZ = p J G
2 2N

JV‘Z ZV“A

| fUthn



QC 3: Explain why APRS = ARPQ.

D
” » Q

—_—
—

R
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